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(b)

P(ANB) = P(A) x P(B)
0-1 = (x +0-1) x 0-4
0-4x = 0-06
x =015

or

P(A|B) = P(4)
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Question 2 (2013)

Scale 10C (0, 3, 7, 10)

Low Partial Credit

e formula written or implied
e writes P(A) = x+0-1

High Partial Credit
e formula fully substituted

(b)

In a class of 30 students, 20 study Physics, 6 study Biology and 4 study both Physics and

Biology.
(i) Represent the information on the
Venn Diagram.

A student is selected at random from this class.
The events E and F are:

E:  The student studies Physics

F:  The student studies Biology.
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(ii) By calculating probabilities, investigate if the events E and F are independent.

P(ENF)=4
P(E)xP(F)=3x& =4
P(E n F) = P(E) x P(F)

= E and F are independent events




Question 3 (2012)

Question 1 (25 marks)
The events A and B are such that P(A) = 0.7, P(B) = 0.5 and P(ANB) =0.3.

(a) Find P(AUB).

P(AUB) = P(A)+P(B)—P(ANB)
= 0740.5-03
= 09
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(b) Find P(A|B).
_ P(ANB)
PUAIB) = —5
03
- 05
= 06
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(c) State whether A and B are independent events and justify your answer

If A and B are independent events then P(ANB) = P(A)P(B).
Here, P(ANB) = 0.3 but P(A)P(B) = (0.7)(0.9) = 0.63.
So A and B are NOT independent events.
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